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M2U8: Assessment Pattern and
Assessment Instruments
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Greetings, welcome to Module 2, Unit 8 on Assessment Patterns and Assessment

Instruments.
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Recap

o Understood the nature and role of technology and setting targets for
attainment of COs.
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We have seen the nature and role of technology in setting targets for attainment of COs.
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M2U8 Outcomes

M2UB-1: Understand the process of designing an assessment pattern and
assessment instruments for an engineering course.
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The outcomes for this unit are: to understand the process of designing an assessment

pattern and assessment instruments for an engineering course.
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Assessment

* The method of assessment varies from institution to institution.
*  Broadly divided into:

* Continuous Internal Evaluation (CIE) and

* Semester End Examination (SEE).

* The relative weightages given to CIE and SEE also vary considerably from
Institution to Institution. They may range from 20:80 to 60:40!

* Much of the assessment requires written responses.
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The method of assessment varies dramatically from institution to institution. We have a
very large amount of variation in the way the assessment is implemented in different
universities and in different institutions. But very broadly we can divide the assessment

into two parts: the continuous internal evaluation and semester end examination. The



relevant weightages given to the CIE and SEE also vary considerably from institution to
institution. In Tier 2 institutes which are affiliated to university, typically the weight
given to the CIE is around 20 and the weightage to the semester end examination is 80.

So, that is 20:80.

But that can vary and go all the way up to 60:40 in autonomous institutes. So, there are
institutes (autonomous) which allocate 60 marks to SEE and 40 to CIE, but the more
common allocation in autonomous institute is 50:50 and non-autonomous affiliated
institutes is 20:80. These are the most common numbers, but they do vary across the
universities and the institutes and much of the assessment still requires written responses

as of now.
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Internal Assessment

¢ The number of assessment instruments that can be used in Internal
Assessment, and the variety of assessment instruments allowed depend on
the guidelines provided by the Institute / Affiliating University.

¢ Inall cases, the Internal Assessment taken as a whole must adress all the
COs adequately.

* Ensuring this requires planning upfront.
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The continuous internal evaluation or internal assessment: with respect to this, the
number of assessment instruments that can be used in continuous internal assessment and
the variety of assessment instruments allowed depend on the guidelines provided by the
institute or affiliating university. There can be again wide variation. There are
universities where you can conduct only two tests as a part of CIE and their average is
taken as the CIE marks. There are institutes where 3 tests are conducted and the best 2

are selected and their average is taken as the CIE.

There are also institutes where the teacher has freedom with respect to certain marks of

the CIE and the teacher can administer quizzes, assignments, mini projects for certain



marks. For certain marks, this has to be necessarily in the form of written test. So, the
variation of the possible assessment instruments and the type of questions that can go
into these instruments varies dramatically across the institutes. But in all cases the
internal assessment taken as a whole must address all the COs adequately and this is a

major challenge for many institutes. Particularly, it becomes challenge to assess the later

COs.

For example, if there are 8 COs, assessing COs 7 and 8 is generally a challenge. Because
by the time the instruction material uncovers the CO7 and COS, usually the last test
would have been conducted. So, there are challenges in designing the internal assessment
in such a way that all the COs are addressed adequately and ensuring all these requires
considerable planning upfront. Without that, it is possible that the CIE will be inadequate

in providing the data for computing the CO attainment.

So, in this unit we focus on the planning upfront that is required to ensure a quality CIE

as well as quality SEE.
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CIE Plan - |
* Step |: Based on the Mm

?vallable guidelines, Fhe Test | (TI) 15 Week 7
instructor must finalize the

details of the assessment Test 2 (T2) £ ey
instruments to be usedand ~ Quizl Q1) 3 Week 5
the schedule for Quiz2 (Q2) 5 Week 14
administering these Assignment | 5 To be submitted
instruments for CIE . (Al) in week 9
* Example:Total CIE Marks: 50 Assignment2 5 To be submitted
(A2) in week 15
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The first step in CIE will be: Based on the available guidelines, the instructor must
finalize the details of the assessment instruments to be used and the schedule for
administering these instruments for CIE. As I mentioned, there can be only 2 tests or
there can be 2 tests and certain quizzes or there can be tests, quizzes, assignments or

there can be tests then a mini project. So, in all these cases we must finalize first the



details of these assessment instruments and the marks allocated for them as well as the

schedule when that particular instrument is going to be administered.

What we see here is one example, where the instructor is planning on 2 tests, each for 15
marks; then 2 quizzes, each for 5 marks and 2 assignments, again each for 5 marks,
getting to a total of 50 marks. And the schedule as you can see is that Test 1 and Test 2
are scheduled in week 7 and week 13. The 2 quizzes are scheduled in week 5 and week
14 and the assignments 1 and 2 - one is to be submitted in week 9 and another is to be
submitted in week 15. Now, when these assignments are given to the students - that the
instructor has to decide depending upon how much time is to be allowed to the student to

work on the assignment and submit.

But it is assumed that the assignment topic is indicated to the student reasonably well in
advance and the week in which it is to be submitted is known upfront. So, the first step
would be to make this kind of a plan; the assessment instruments to be used and the

schedule for the administering these instruments.
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CIE Plan - 2

NOTE:

¢ The assessment plan may indicate 5 marks for Assignment 1. However, the
actual assignment given to the students need not be for 5 marks! In such
cases, the performance of students is scaled appropriately afterwards.

*  The same is true for any assessment instrument!
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It should be noted that what is indicated in the assessment plan would be the final marks.
For example, assignment 1-it says 5 marks, but the actual assignment given to the
students need not be for 5 marks. I can give it for say 20 marks, but what will happen in
such cases is that the performance of the students is scaled appropriately towards the end.

That means, an assignment 1 is given for 20 marks then the final marks are divided by 4



so that the performance of the students is scaled appropriately. This becomes necessary
when designing quizzes and assignments because the total marks allocated to them
would be small and designing an instrument for such a small number of marks may not

be very convenient.

So, I may design the quiz for 20 marks, and then scale it down to 5 marks. This kind of a
scaling down can happen for any assessment instrument based on the need and

convenience of the instructor.
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CIE Plan - 3

For each CO, we must decide:
o Marks to be allocated to this CO out of the total marks for CIE

o The distribution of these marks over the relevant assessment instruments
o The cognitive levels of the assessment items related to this

|
|
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After deciding on the assessment instruments and their schedule, we must now look at
the COs. For each CO, there are three things that we must decide. Number one: marks to
be allocated to the CO out of the total mark for the CIE. So, we have for example, 50
marks for CIE and how many marks will be allocated to CO1, CO2, CO3 etcetera. So,
marks to be allocated for a particular CO - that we must decide. Then, the distribution of
these marks over the relevant assessment instruments - it is possible that we cover a

particular CO over 2-3 assessment instruments.

For example, COl would be addressed in test 1 as well as in quiz 1 as well as in
assignment 1; then how many marks would be allocated in test 1; how many would be in
Q 1 and how many would be in assignment 1? We will have to decide that. Then: the

cognitive levels of the assessment items related to this CO. This we will discuss again in



detail, but we have to decide on the cognitive levels of the assessment items related to

this CO.
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CIE Marks Allocation to COs

* Marks allocated to a specific CO out of total CIE marks is the choice of
the Instructor with the only constraint being that every CO must have
non-zero marks allocated to it.

¢ However, Instructor may wish to consider the following two pa

rameters
in deciding on the marks to be allocated. '

o Proportion of classroom hours devoted to the CO
0 Relative “importance” of this CO in later courses.
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So, the first is marks allocation - marks allocated to a specific CO out of the total CIE
marks. Obviously, is the choice of the instructor. The only constraint is that every CO
must be assessed; which means that non-zero marks must be allocated to every CO.
Beyond that, it is instructors’ choice. However, it may be desirable if the instructor
considers two important parameters in deciding on the marks to be allocated. One is the
proportion of classroom hours devoted to that CO. We spend considerable amount of
time devoted to a particular CO, but if number of marks allocated to that CO is

significantly low, it does not look very natural.

So, the proportion of the classroom hours devoted to the CO plays an important role. But
it is not algorithmic in the sense that so many percentage of the classroom is devoted to
the CO; so, the same percentage of 50 is devoted to that CO. It is not like that, but it is an
important parameter that a teacher must take into account. And also the subjective
perception about the relative importance of that CO in later courses - that also can be
taken into account. Based on these parameters finally, the instructor has to decide how

many marks are to be allocated to a specific CO.

So, that freedom still rests with the instructor, but these are the parameters that can be

taken into account in deciding on that number.
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CIE Marks Allocation to COs (2)

Example: CO5

* Total number of class sessions = 56

* Number of class sessions devoted to CO5 =8 = 4%
+ Total CIE Marks = 50

© 14%0f50=7

* CO5 s perceived by Instructor to be quite important. &= £378
* CIE Marks allocated by Instructor to CO5 = 10. \@

D

N\ \
+ Completed allocation: (Total marks for CIE = 50) \

COI:8;,C02:8;C0O3:8,CO4:8; COs: 10, CO6: 8.
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As an example, in a course let us look at one CO - COS5. Assume that the total number of
class room sessions is 56 and the number of class room sessions devoted to COS5 is 8,
that is 14 percent and the total CIE marks is equal to 50. So, if you go strictly by the
same percentage, then we will get 7 marks. It is possible to allocate 7 marks only to the
CO5, but the instructor perceives this COS5 to be more important or significant for the
later courses. So, the instructor has allocated actually 10 marks to COS5, which is

perfectly all right.

So, the marks allocated to a particular CO by the instructor depend on these two factors.
But finally, it is the design choice of the instructor. So, for COS5 the marks allocated are
10. In the same fashion instructor has to decide the marks to be allocated to each CO and
of course, total must come to whatever the marks assigned for CIE. In this case the total
marks for CIE are 50. So, the marks allocation, let us assume, is as shown here. All the
COs other than COS - 8 marks each; then COS5 is 10. So, we have 8x5 = 40; plus 10; 50

marks.

This choice is the choice of the instructor. It is not necessary that CO1, CO2, CO3, CO4
and CO6 all must carry the same weight of 8. In this case the instructor has decided like
that, but it can vary from CO to CO based on the factors that we discussed. So, the

instructor has to decide on this kind of CIE marks allocation to COs.
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Assessment Instruments for a CO - |

o CIE marks for each CO have been determined.

o Now, Instructor must decide on the distribution of these marks over the
relevant assessment instruments.

o Again this is the choice of the Instructor.

o Constraint: If a CO is to be addressed by an Assessment Instrument, the
instructional material related to that CO must already have been
uncovered before the scheduled time of that assessment instrument.

o Example:Tl is scheduled for week 7. Lesson plan indicates that CO6 is
planned for weeks 12 and|3. Evidently CO6 can not be addressed by T1!
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Then, for each CO we already have determined the marks. Now, the instructor must
decide on the distribution of these marks over the relevant assessment instruments.
Again, this is the choice of the instructor. Essentially, what we are saying is that a
particular CO is addressed by which all instruments? The only constraint is that if a CO
is to be addressed by an assessment instrument, the instructional material related to that
CO must already have been uncovered (must have been discussed in the class and
completed) before the scheduled time of that particular assessment instrument. As an

example, we saw that T1 is scheduled for week 7.

Now, lesson plan indicates that CO6 is planned for weeks 12 and 13. Evidently CO6
cannot be addressed by T1. In fact, this used to be a major handicap in the earlier scheme
of internal evaluation, where there are only 2 tests and by the time the test 2 is
completed, in most of the cases, the instructors would have covered the instruction
material related only to the probably the first 4 or 5 COs. So, the remaining COs still are

to be covered as per the lesson plan, but already the last assessment instrument is over!

So, essentially we had no performance data regarding some of the later COs. This was
one of the major drawbacks in that kind of assessment scheme. So, several autonomous
institutes realized this very early and they brought in other assessment instruments; other
than tests; which could be administered later in the semester to address the later COs.

Otherwise it becomes very difficult to address the later COs. So, the other assessment



instruments like a quiz or an assignment will become absolutely essential to cover the

later COs.

So, keeping this constraint in view, the instructor has to decide the assessment

instruments that would be used to address a particular CO.
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Assessment Instruments for a CO - 2

Example of a valid plan:

- Total Marks T1/ Assessment Marks
8

Col Ql=3 TI=5

COs 8 Q2=3 A2=5
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So, this is an example of a valid plan. By valid what we mean is that the time at which
the assessment instrument is scheduled - by that time the instruction material related to
that CO has been completed in the classroom. So, COIl- the total marks allocated
already, we have seen is 8 and the allocation of the marks for this is in quiz 1- 3 marks
are allocated and in T1 - 5 marks are allocated; total 8 marks and by the time the quiz 1
is conducted or the T1 is conducted; the material related to CO1 has been completed in

the class room.

So, the student is ready to take the quiz 1 and T1 which have questions related to COIl.
Similarly for every CO, we must decide what are the assessment instruments in which
that CO is to be addressed. So, assume that we have done that for every CO. For
example, CO6 which is the very last CO of the course - we can see that it is not covered
by any test at all because by the time we complete the test 2, still we have not really

touched on the material related to CO6.



The instructional material related CO6 comes in much later only. So, this CO6 is not
addressed by Test 1 or Test 2; instead to some extent, it is addressed by quiz 2 for 3
marks. But the remaining marks - they are all addressed in the assignment 2 and we have

seen that the scheduled date for submission of assignment 2 is quite late.

So, by that time, the instruction material related to CO6 would have been completed
reasonably well and a student has time enough to complete the assignment and submit it.
So, this kind of a plan is essential in order to ensure that every CO is addressed

reasonably well in one or more assessment instruments spread over the semester.
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Distribution Over Relevant Cognitive Levels - |

o Cognitive Level of an Assessment Item is generally expected to be at the
same cognitive Level as that of the CO,

o However, we may also have assessment items from lower cognitive levels,
for a variety of reasons!

o The weightage given to assessment items belonging to
the lower cognitive levels is decided by the instructor.

o An useful rule of thumb;

The weightage given to assessment items belonging
to the lower cognitive levels < ~40%
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After determining the marks to be allocated to a CO and after determining the
assessment instruments over which that CO is to be addressed, the next major issue to be
decided is the distribution of marks over relevant cognitive levels. Now in general the
cognitive level of an assessment item is expected to be at the same level as that of the
CO. If the CO is at the analyze level, it is expected that the assessment item is also at the
analyze level. If the CO is at the apply level the assessment item also should be at apply

level.

However, in practice most of the instructors do set the assessment item at lower
cognitive levels for a variety of reasons. It could be that it is important to assess even a
lower level. It could be that they would like to first test at that level and see the progress

of the students in terms of acquiring competencies stated. So, there could be a variety of



reasons because of which we may have assessment items from lower cognitive levels.
So, if a particular CO is at apply level, I may have certain questions related to that CO at

the lower levels of understanding and remember.

That means, related to that CO, I can have some questions at a remember level, some
questions at apply level and some questions at the understand level also. So, the
weightages given to the assessment items belonging to the lower cognitive levels is
decided by the instructor. If a CO is at apply level, how many marks do I allocate to
apply level and how many marks do I allocate to the lower levels which are understand

and remember.

Of course, within that how many marks to understand level; how many marks to
remember level is also the choice of the instructor. But one useful rule of thumb is that
the weightage given to assessment items belonging to the lower cognitive levels should
not exceed 40 percent. Of course, this 40% is not a magic figure! You could decide on 35
percent, you could decide on 30 percent; the instructor has that freedom to decide. But if

it is more than 50 percent then, the assessment looks to be weak.

If a CO is at apply level and if our assessment items are addressing only lower levels
predominantly, but not the apply level; then, usually the assessment is considered as of
inferior quality. And of course, in order to the ensure that this is not happening, it is
usually a practice that is followed by many institutes that the assessment instruments go
through some kind of a quality assurance process, where the instrument is validated

against these kinds of guidelines.

So, it is also necessary to have some kind of guidelines like what could be the maximum
weightage that can be given to assessment items belonging to lower cognitive levels. The
40 percent is a reasonable number that we are proposing, but the instructor has the
freedom to change this number. But have some kind of prior thought as to what can be

the percentage of marks allocated to lower cognitive levels.

In fact, again if you look in to the semester end question papers in the earlier times
before the OBE framework, many of the people complained that the question papers
have questions all related to very low cognitive levels of remember and sometimes only
the remember and understand, even though the expected competencies from the student

were at higher cognitive levels. So, the instructor has to have upfront planning to ensure



that the question paper is of reasonable quality; the assessment instruments that are being
planned do address the COs sufficiently at the relevant cognitive levels. So, this is a

choice that the instructor must make.
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Distribution Over Relevant Cognitive Levels - 2

Example:
* Atotal of 10 marks are planned for COS.
¢ Assume that CO5 is at Apply Level
* One possible allocation of marks over cognitive levels could be:
o Apply Level: 6 Marks (60% of 10)
o Lower Levels:4 Marks (40% of 10)
(Understand Level: 2 Marks; Remember Level: 2 Marks)
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One example again: We have seen COS. A total of 10 marks are planned for COS5. Now
assume that COS is at apply level; then how many marks do I allocate to apply level and
how many marks do I allocate to lower levels of understand and remember. So, this is
one choice where the instructor has decided to have 6 marks for assessment items at
apply level and 4 marks for assessment items at lower levels. These 4 marks are again

split into 2 marks at understand level and 2 marks at remember level.

Now, it may look like this is too much of a detail, but this kind of a planning is essential
if the assessment is to be of good quality and we already have seen that good quality
assessment is the key to good quality learning. Assessment drives the learning. So,
unless the assessment is planned upfront carefully, there is no guarantee that the
assessment would be of good quality. So, though it does look like fair amount of detail, it
is necessary to ensure that all the assessment items address all the COs at relevant
cognitive levels. So, this kind of a planning is almost absolutely necessary to ensure

good quality assessment.
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Distribution Over Relevant Cognitive Levels - 3

o Next we need to decide how these marks are allocated to the assessment
instruments already planned for a given CO.

Example (continued):
Assume that the distribution of marks over assessment instruments for CO5 is:
T2:8 Marks; Q2:2 Marks

Distribution across Cognitive levels across these two assessment instruments
can be:

T2: Apply Level - 6 Marks
Understand Level - 2 Marks
Q2:Remember Level -2 Marks

N.J. Rao & K. Rajanikanth

The next major issue is that having decided on the distribution of marks to different
cognitive levels, we need to decide how these marks are allocated to assessment
instruments already planned for a given CO. For a CO, we already have decided what all
the assessment instruments which should address that CO. Now, we already have

decided how many marks to be allocated to that CO; at what cognitive levels.

Now the final decision is how are these marks to be distributed over the assessment
instruments. For example, assume that the distribution of marks over assessment
instruments for COS5 is Test 2 - 8 marks and Quiz 2 - 2 marks. Notice this is the same
example which we had earlier - we are continuing. Now, distribution of marks across
these two instruments - we will have to decide. We already have decided that at apply
level we need 6 marks and the issue is that these 6 marks would belong to T2 and at
understand level, we wanted 2 marks and these 2 marks also will be in T2 and at

remember level, we need 2 marks and these will be covered in Quiz 2.

So, the distribution of marks related to COS5 across cognitive levels, across the relevant
assessment instruments is as follows: In Test 2, there will be assessment items for 6
marks at apply level related to COS. There will be an assessment item at understand level
for 2 marks related to the same COS5 and in Quiz 2, there will be 2 or 1 item at remember
level which will be for 2 marks related to COS5. So, this completes the plan process for a

particular CO and this, we must do for all COs. For all COs, we must decide total marks



allocated to that CO, the assessment instruments in which that CO is going to be

addressed and the cognitive levels over which the assessment is to be distributed.
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Summary of CIE Plan Process

¢ Determine the CIE instruments, marks for each instrument and the
schedule for these instruments

* For each CO:
o Allocate marks for CIE,
o Distribute these marks over selected CIE instruments. §o 2§
o Determine the marks for relevant cognitive levels. il
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So, that leads us to a summary of the CIE plan as shown below. Determine the CIE

instruments, mark for each instrument and the schedule for these instruments - that is

first step. Then, for each CO allocate marks for CIE; distribute these marks over the

selected CIE instruments; and determine the marks for relevant cognitive levels.
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CIE Plan - Example
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Col U 5 -
(U:3) (R:3)
co2 U 5 - 2 |
(U:5) (R:2) (R:1)
CO3 Ap b 3
(Ap:5) (U:3)
CO4 Ap 7/ I
(U:2; Ap:5) (R:1)
CO5 Ap 8 2
(U:2; Ap:6) (R:2)
CO6 Ap 3 5
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If you do that, then we may get a table like this. The actual cognitive level of CO1 is
“Understand” and that is being covered in T1 that is Test 1 and Quiz 1. In Test 1, 5
marks are allocated and in a Quiz 1, 3 marks are allocated. So, basically the CO1 is being
covered in two instruments T1 and Q1 and in that the understand level, there will be 3
marks in T1; its not shown here, but it means that the remaining 2 marks go to the

remember level.

So, in T1 also we have done certain marks at one level and remaining marks at lower
level. Similarly, CO2: you can see it is covered in T1, Quiz 1 as well as the assignment
1. So, this is spread over 3 assessment instruments. CO3 which is at apply level is

addressed in T1 and in assignment 1 (A1l).

Similarly, CO4 is addressed in T2 and in assignment 1, then CO5 in T2 and quiz 2 and
CO6 - you notice is not addressed in any of the test at all - neither T1 nor T2 - it is
addressed only in quiz 2 and assignment 2 which come much later. So, basically what
needs to be done is that the marks for the CO which have been allocated are spread over
different cognitive levels; the same cognitive level and lower cognitive levels and they

are spread over different assessment instruments for the CIE.

So, that completes the CIE plan process. Of course, we have to ensure that the total
number of marks for T1, T2, Quiz 1, Quiz 2, assignment 1 and assignment 2 - they are as
per the original plan. So, the total marks allocated to each assessment instrument are as
per the original plan and the scheduled test assignments and quizzes - they all occur at a
time by which the addressed COs have been completed in classrooms and the cognitive

levels are all appropriately planned.

How many marks at the cognitive level which is same as the cognitive level of the CO,
how many marks at lower levels; all these planning have been completed. That leads to
a final table which we have shown here. This would be the CIE plan though it looks a
little bit detailed; this ensures that the CIE first addresses all COs then addresses the COs
at appropriate cognitive levels and the time at which the assessment happens is

reasonable. So, this is the CIE plan that we must have.
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SEE Plan Process

¢ There is only one Semester End Examination and thus there is only one
assessment instrument that needs to be planned.
* The structure of SEE Instrument varies considerably from Institute to Institute.
¢ Inany case, this instrument must address all the COs!
¢ Thus the plan includes the following steps:
o For each CO:
* Allocate marks for SEE
* Determine the marks for relevant cognitive levels
The rationale for these two steps is same as the one used in CIE
o Combine the assessment items suitably based on the structure of the SEE
instrument
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Then, let us move on to the SEE - semester end examination. What is involved in that?
There is only one semester end examination and thus, there is only one assessment
instrument that needs to be planned. So, there is nothing like multiple assessment
instruments, there is only one. The structure of the SEE instrument varies considerably
from institute to institute, university to university. Obviously, whatever may be the
structure it must address the entire COs; that is important thing. So, the plan that we have

for SEE includes the following steps.

For each CO allocate marks for SEE, and then determine the marks for relevant cognitive
levels. So, these two steps only are required and the rationale for these two steps is the
same as the one used for CIE. That means, based on the proportion of classroom hours
spent to that CO and the relative importance of that CO, you decide on the total marks
for that CO and then, decide on how many marks at the cognitive level of the CO and

how many marks at lower levels.

Now, these assessment items must be combined suitably based on the structure of the
SEE instrument. That is one additional step because often SEE has got a fixed structure
and the assessment items need to be combined appropriately in order to create the final

SEE instrument. We will have a look at the possible structures.
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SEE Question Papers

* Wide range in details

* However, nearly all of them are for 100 marks in total and require written
responses in fixed duration (typically 3 Hours)

* 3 Popular Structures for SEE Question Paper (SEE QP) exist in India
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So, they vary very widely in details, but nearly all of them are for 100 marks in total,
though later they may be scaled to 50, if the SEE, CIE ratios are 50:50. Then, these 100
marks will be scaled to 50. If they are in the ratio of 20:80 (CIE:SEE), then they may be
scaled to 80. So, ultimately, they may be scaled differently, but the question paper itself
is generally for 100 marks in total and generally requires written response and the
duration is generally fixed; typically 3 hours in Indian scenario. There are 3 popular
structures for SEE question paper right now in India. There are many variations, but

broadly there are three kinds of structures which are available.
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SEE Question Paper Type - |

8 Questions,
*All questions carry equal marks,
* Students are required to answer any 5 full questions.
*Each question may have sub-questions, typically no more than 4.
Comments:
* Once very popular.
* From OBE framework perspective, main weakness is that we may not
get any performance data regarding some of the COs!
* Consequently, this structure is out of favor presently and we will not
discuss it any further.
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Type 1: There are 8 questions; all questions carry equal marks. Students are required to
answer 5 full questions. That means, each questions is for 20 marks. Each question may
have sub-questions like a, b, ¢, d. But typically the sub questions are no more than 4 and
the allocation of marks for these sub questions can be fairly arbitrary; like I may have 3
sub questions. So, I may have marks like 4+ 4+ 12 adding to 20 or I may have 6+ 6+ 14
or I may have 3+ 5+ 12; practically it’s arbitrary. The instructor has unrestricted freedom
with respect to the number of sub-questions and the marks allocated to each sub

question.

However, if such a planning is done, then we will see later that creating an item bank
becomes very difficult. So, it may be desirable to have some kind of structure for the
sub-questions also. We will examine that when we look into the item banks. Now, this
kind of question paper structure was once very popular, but today it is really not favored
by any institute. Because from OBE framework perspective, the weakness is that we may
not get any performance data regarding some of the COs; particularly COs related to the

later portion may be skipped by the students and sometimes even by the teacher.

So, the 5 questions to be answered will all belong to the earlier part of the syllabus and
the COs related to that part are essentially focused upon. This was again realized very
early by autonomous institutes. So, this structure is totally out of favor today and only a
very small number of institutes are still following this structure; practically it is going out

of favor and we will not discuss this any further.



(Refer Slide Time: 34:36)

SEE Question Paper Type - 2

* Syllabus is typically organized as 5 Units.

+ SEE QP has two questions corresponding to each Unit and student has to
answer one full question from these two questions.

¢ Thus there are 10 Questions, all of equal marks, and students are required
to answer 5 full questions but the choice is restricted to “one from two”!

* Evidently, the advantage is that we get performance data regarding all COs.
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Type 2: Here it is based on the fact that in most of the OBE adopted frameworks, the
syllabus is typically organized into 5 units and the semester end examination question
paper has 2 questions corresponding to each unit and the student has to answer one full
question from these two questions. That means, there is a choice, but is internal choice.
The 2 questions correspond to the same unit and the student has to answer one of them;

that means, the student has to answer a question from each unit.

So, there are 10 questions, all are of equal marks and students are required to answer
only 5. It looks like there is a bigger choice. But actually the choice is restricted to 1
from 2. So, there are 2 questions from unit 1, student has to answer, 1 question.
Similarly, 2 from unit 2, student has to answer 1 question; in that way it is always a
choice of 1 from 2. Obviously, the advantage is that we get performance data regarding
all COs because the 5 units essentially are written down as certain number of COs. This
is fairly popular and many autonomous institutes as well as many universities have

adopted this type much more prominently these days.



(Refer Slide Time: 35:52)

SEE Question Paper Type -2 (2)

Guidelines for setting the question paper.
¢ All COs must be addressed.

* The two questions between which choice exists must address the
same set of Cos, and must be reasonably similar in structure.

* Marks allocated to each CO must take into account, as discussed
earlier, the proportion of classroom hours devoted to that CO as well
as the Instructor’s subjective perception of the relative “importance”
of that CO.
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The guidelines for setting such a question paper would be that obviously, all the COs
must be addressed. But the important point is the two questions between which choice
exists, for example, question 1 and 2 related to the first unit, the two questions between
which choice exists must address the same set of COs and must be reasonably similar in
structure. Then only the performance data can be used reasonably well to determine the

attainment levels of the COs.

If the question 1 is addressing CO1 and CO2 and the choice is with question 2; question
2 also must address CO1 and CO2 and they must be reasonably similar in structure in the
sense that if CO1 is given a weight of 8 and CO2 is given a weight of 12 in one question,
the choice also must be quite similar - CO1 again 8 marks, CO2 - 12 marks. The

subdivision could vary, but the total marks allocated must be similar.

The cognitive levels chosen also must be similar in structure. It does not mean that there
cannot be any variation, but the variation should be minimal. So, in other words, the 2
questions offered for choice must be quite similar in terms of the COs addressed, the
cognitive levels addressed so that the performance data that we get would be a reliable
one for determining the attainment levels of the COs. So, the marks allocated to each CO
must be taken into account as discussed earlier, the proportion of classroom hours

devoted to that CO as well as the instructor’s subjective perception of the relative



importance of that CO. Just as with CIE, with SEE also we use same the rationale for

determining the marks.

(Refer Slide Time: 37:42)

SEE Question Paper Type - 3

* Syllabus is typically organized as 5 Units.
* Question Paper has two parts — Part A and Part B.

*  PartA has objective type questions covering the complete syllabus and
the total marks allocated to this part may vary from 10 to 20 out of the
total of 100.

¢ The remaining marks are allocated to Part B

*  Part B is quite similar to the earlier SEE QP Type 2 except that each
question has less-than-twenty marks. (all questions carry equal marks)
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There is a 3rd type which has become more prominent these days in some of the
universities, where the question paper has two parts - Part A and Part B. Part A has
objective type questions covering the complete syllabus and the total marks allocated to
this part may vary from 10 to 20 out of the total of 100. The remaining marks are
allocated to part B and the structure of part B is quite similar to the SEE question paper
type 2. That means, the syllabus is organized in to 5 units; for each unit there are 2
questions; the student has to answer 1 of those 2 questions. So, the choice is 1 out of 2,

total 10; student has to answer 5; 1 from each unit.

The only difference is that each question will now have lesser number of marks because
some marks are allocated to part A. For example, if part A has got 20 marks, part B has
got only 80 marks. So, the 5 questions are equally distributed among 80. So, each
question will have only 16 marks instead of 20 marks; otherwise, the structure is quite

similar to the SEE question paper type II.
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SEE Question Paper Type - 3 (2)

Example:

* PartAis for 20 marks.

* So,Part B is for 80 marks.

* Each question in Part B is thus for 16 marks,
Guidelines for setting the SEE QP:

* Part A must address all the COs.

* Guidelines for Part B are same as for SEE QP - Type 2.
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Now, the guidelines for setting the SEE question paper are fairly simple. Part A must
address all the COs. And then, based on how many objective type questions are in part
A, one can decide how many should be devoted to each CO. Again, using the relative
importance of each CO, the relative number of hours spent for each CO, the number of

objective questions belonging to a CO can be decided.

Now, the guidelines for part B are absolutely same as for the SEE question paper type 2
because there is really no difference from SEE question paper type 2, the only difference
being that it is for lesser number of marks. Otherwise it is the same structure that we

need to have.
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Exercise

* DesignTI from CIE of your course as per the structure given.
* Design an SEE instrument of type 2 or Type 3 as per the structure given,
Thank you for sharing the results of the exercise at tale.iiscta@gmail.com
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That completes our discussion of the assessment plan for CIE and SEE. So, the exercise
is design one test T1 that is part of the continuous internal evaluation of your course as
per the structure given. Indicate the COs being addressed, their cognitive levels, the
schedule when the T1 is occurring and when the relevant COs would have been
uncovered in the classroom. Design one SEE instrument of type 2 or type 3 - basically
there is no difference except that in type three certain marks are given to objective type
questions - as per the structure given. And thank you for sharing the results of these

exercises at tale.iiscta@gmail.com.
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M2U9

Understand the process of designing item banks.
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In our next unit, we will understand the process of designing an item bank. What is an
item bank; why do we need an item bank; what are the advantages of item bank and what

is the structure of an item bank and how do we design an item bank.

Thank you for your attention and with this we conclude this unit.



